If it is important to you, you will find a way
If not, you will find an excuse.
Frank Banks

Test Yourself:
Utility Theory
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Utility is the satisfaction or pleasure that people
receive from consuming a good or service.



What is total utility?




Total utility is the amount of satisfaction
received from all the units of a good or service
consumed.

Total utility is maximized when the marginal
utility per dollar of each good is equal and the
entire budget is spent.



Chart: Total Utility
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What is marginal utility?




Marginal utility is the change in total utility from
one additional unit of a good or service.

Consumers make one choice over another
depending on the marginal utility of the choices.



What is the law of diminishing margin

utility?

Anmount of enjoyment

Amount of food



The law of diminishing marginal utility is the
principle that the extra satisfaction of a good or
service declines as people consume morein a

given period.
Units Total Utility Marginal Utility
1 20 20- 0=20
2 38 38-20=18
3 >4 54-38=16
4 68 68-54=14
S 78 78-68=10
6 82 82-78= 4
7 82 82-82=0




Marginal Utility
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consumer equilibrium?




Consumer equilibrium is a condition in which
total utility cannot increase by spending more of
a given budget on one good and spending less
on another good.

MU A MUB MU Z

price A price B price Z



What are two alternative explanations §f

demand?




Two alternative explanations of demand are:

» the income effect — a change in the quantity
demanded of a good or service caused by a change
in real income (purchasing power). As prices decline,
your real income increases, increasing your buying
power, so you buy more units, ceteris paribus.

= the substitution effect — a change in the quantity
demanded of a good or service caused by the
change in its price relative to substitutes. If the price
of Pepsi falls and the price of Coke remains
unchanged, you will buy more Pepsi because it is
less expensive than Coke.



What do the substitution and income{ i,

effect explanations prove?




The substitution and income effect explanations
prove the law of demand, that is, as the price of
a good declines, consumers will buy more units

of the good, and vice versa.






A normal good is a good that consumers will
buy more of as theirincomes increase.



Whatis an
inferior good?




An inferior good is a good that consumers will
buy less of as theirincomes increase.



How did you do?! If you didn’t do as well as” )

you'd like, review the margin notes and
presentations and test yourself again.

AULK, AMOTUER BOWL OF THE PLEASURE OF MY FARST] . AD BY TWE EWD OF WY | MAYEE Yoy T TRIED

CHACOLATE FROSTED SucaR | | BowWl (S DIMINISMED BY | THIRD BowWl , I USUMAY SWOULDMT USE | oLk, BUT

FEEL Sk, CHOCOLATE TUE BUBBLES
[ MLk . WENT UE WY
' HO5E

BOMES ! THE SECOMD BOwL THE AMTICIPATION OF
IS ALWRYS THE BESTY FUTURE BOWLS..

1Y BV pSeerpory Dasir Bodeed by l.h'.ll-l'h'.ll-l_'rul FedEe

CONTINUED INTEST YOURSELF:
ELASTICITY



